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&Y X,
@ -6-4 ® -5+8

=-10 =3
@ () x(-9) @ 48+ (-6)

=36 =8
® —4(5x-3) ® (54x-18)+9

=20x+12 =6x-2

@D 4x-2+3x+5

4C2x+1)-3@x-3)
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i HEE X,
@ 3-7 @ -5-(-7)
= =-5+7=2
® -6x7 @ (-27)+(-3)
=—42 =9
® 8(6x-1) ® 20x+5)+(-5)
=48x-8 =—4x-1
@D 8x—4-3x-7 5Q@x+1)+4(x+3)
=8x+3x—4-7 =10x+5+4x+12
=11x-11 =10x+4x+5+12
=6x+17
@A EMRT,
© 6x-5=19 ® 7x+5=>5x+11
6x=19+5 7x—5x=11-5
bx=24 2x=6
x=4 =3

=4x+3x-2+5 =8x+4-3x+9
=7x+3 =8x—-3x+4+9
=5x+13
O BEAZRT,
© 7x+4=25 © 11x+9=7x-11
7x=25-4 1lx—7x=-11-9
7x=21 4x=-20
=3 x=-5
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@® 5-9 @ 7-(=8)

= =7+8=15
® 3x(-8) @ (-54)+(-6)

=-24 =9
® —93x+2) ® 2x-21)+7

= 27218 =623
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oY X,
D 4-6 @ -11+8
=10 =-3
@ (-6)x(—4) @ -32+4
=24 =-8
® 74x+1) ® (36x+6)+(-6)
=28x+7 =—6x—1

@ 11x+5-3x+6

7Cx—1)+5(x-2)

@ 9x+6—-4x—-10

5Bx-2)-3Cx—-1)

=1lx-3x+6+5 =14x-7+5x-10
=8x+11 =14x+5x—-7-10
=19x-17
OB ERT,
®© 8x-7=17 © 9x-9=6x+12
8x=17+7 9x—-6x=12+9
8x=24 3x=21
=3 x=7

=9x—-4x+6-10 =15x-10-6x+3
=b5x—4 =15x—-6x—-10+3
=9x-7
O BEAZRT,
© 4x+5=17 O 3x—7=5x-13
4x=17-5 3x—-bx=-13+7
4x=12 2x=-6
=3 x=3
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